Physiological Chemistry I
Chapter 5 Homework

1. Name the following compounds.

a. N2O5
b. SiO2
c. HCl

a. CO

b. IF3
c. CCl4
d. BH3
d. SO3
e. H2S
2. For each of the following, state whether the bond is nonpolar covalent, polar covalent or ionic.

a. C-F



d.  K-O

b. H-F



e.  C-I

c. P-H



f.  B-Br

3. Write the formulas of the following compounds.

a. disulfur tetafluoride

b. dihydrogen monoxide

c. nitrogen dioxide

d. sulfur tetrachloride

e. hydrogen monoiodide

f. selenium trioxide

g. carbon dioxide

h. dinitrogen monoxide

i. boron trichloride

4. Arrange the following in order of increasing bond strength

a. C-O, C-Cl, C-Br, C=O, C-N

5. Arrange the following in order of decreasing bond length.

a. C-O, C-Cl, C-Br, C=O, C-N

6. Fill in the following table.

	Formula
	Lewis Stucture
	VSEPR shape
	Polarity
	Draw molecular shape and indicate polarity

	H2
	
	
	
	

	H2O
	
	
	
	

	CH4
	
	
	
	

	O2
	
	
	
	

	N2
	
	
	
	

	HCN
	
	
	
	

	CO2
	
	
	
	

	ClCN
	
	
	
	

	BBr3
	
	
	
	

	CO32-
	
	
	
	

	ClNO
	
	
	
	

	CH2F2
	
	
	
	

	NF3
	
	
	
	

	HOF
	
	
	
	

	C2H4
	
	
	
	

	S3
	
	
	
	

	NO2
	
	
	
	


7. Which of the following elements does NOT exist as a diatomic molecule?

A) hydrogen 
B) carbon 
C) chlorine 
D) oxygen 
E) nitrogen

8. In a covalently bonded molecule, the number of electrons that an atom shares with others is usually equal to the number of electrons

A) in its nucleus.

B) in all the atoms.

C) in its ion.

D) in the atom.

E) needed to give it a noble gas arrangement.
9. Double and triple bonds form because

A) the atoms involved have high electronegativities.

B) one of the atoms in the molecule has more than 8 valence electrons.

C) single covalent bonds do not give all of the atoms in the molecule eight valence electrons.

D) the ions involved have charges larger than one.

E) there is at least one hydrogen atom involved in the bond.

